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" Question No. 10

The

molecule
element

atom

compound

IS the building block of matter.
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) Mmolecule
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compound

IS the building block of matter.
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A plant which uses photosynthesis to create energy is a -

3. CONnsu mer.
b. decomposer.

¢, converter.

d. producer.
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Question 10

Human is an example of:

1. Unicellular eukaryotic organism
2. Unicellular prokaryotlc mﬁn
3. Multicellular €

4. Multicell larptokaryoﬂc

# | ll': -

Scanned with Cams$



=Cannea witn Cams

Scanned with Cams$










Question No. 24

which of the followings are main energy sources for a cell”

Carbohydrates and minerals

and vitamins

Fats and carbohydrates

Minerals «
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() amino ac language
. nucleotide language
Monosaccharnae language

Fatty acid language
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| Question No. 25

Glucose is a building unit in

o Only Sucrose
Only Maltose
Only Lactose

® Isdcchnariaes
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@ Unicellular eukaryotes
- 40 Unicellular prokaryotes
) Multi-cellular eukaryotes
) Multi-cellular prokaryotes
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Question No. 2 [}

An ecosystem consists of

----------------

'~ populations

organisms

communities
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Question No. 20

Polymers are large molecules consists of small units called

Macromolecules

Aloms
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Question No. 21

Organic compounds are pased molecules

Oxygen

Nilrogen
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Question No. 4

Energy exits from the Ecosysiems as

Kinetic energy
Chemical energy

LIt energy

[© Heat energy >
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Question Nao. 13

In which form carbohydrates are stored in plants?

O Cellulose

' Glycogen

Chitin
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- question No. 13

The protecting carbohyd

Cellulose
Sucrose

Glycogen
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 Que No. 7

| S

m Wl;u the characteristic of all living things?

' @ Living things respond lo the environment
@ Living things grow and develop

- @ Living things reproduce
\® All answers are correct




o0 Zain KSA 3:12 PM g )

< Biology Q1 ﬁ




o r— e

____ reaction is the addition of water molecule o break polymer molecules

& Hydrolysis
i raton
& Denaturation




Question No. 11

All of changes that occur from birth, In chilhood and aduithooa are ¢ alled

‘ | lh'pnulllrlin_a

Crganization
Adaptation

Development
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IS the process in which water is removed when two monomers join to form a polyme

2 Diffusion
W Hydrolysis

' Dehydration
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Question No. B

Jiganic compounds are based molecules

Nitrogen

fydrogen

-droon
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Question No. 6

Glucose |5 a bulding unit in

All disaccharides
Only Mallose
Only SuUcrose

Oniv Laclose
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Question No. J

Which of the following is true of cellulose”

it IS a protective polysaccharide for energy in animal cells
itis a polymer composed of glucose
it Is digestible by bacteria in the human stomach

LIS a storage polysaccharide for energy in plant cells
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vidliose Is composed of which two sugars

jiucose + glucose
iucose + galactose
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Tuctose
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Question No. 5

All of the foliowng contain 3Mno acuds except

0 Cholestercd
J Hemoglobin
y  Antibodes

EnZymes
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I he difference between rnbase and deoxyribose sugar 1s

Lack of a nitrogen atom In ribose
LaCk of nng in deoxynbose

LACK Of a carbon atom n nbhose

Lack of an oxygen atom in geaxyribose
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I he difference between rnbase and deoxyribose sugar 1s
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Question No_ 3
which of the foflowng s TRUE of both chitin and glycogen’?

O A% answers are corect

:: Both are used for energy Storage
Scth are found n .

3 ihe piant c=d

< Both are polsacchandes i
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which type of lipid has a skeleton of four fused carbon rings?
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Cholesterg)
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Question No. J

Which of the following is true of cellulose”

it IS a protective polysaccharide for energy in animal cells
itis a polymer composed of glucose
it Is digestible by bacteria in the human stomach

LIS a storage polysaccharide for energy in plant cells
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Question No. 12

Which of the following types of celis use L NA as their gene

Plant
Protists
Archaea
Fungt
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Which of the following is true of cellulose”

it IS a protective polysaccharide for energy in animal cells
itis a polymer composed of glucose
it Is digestible by bacteria in the human stomach

LIS a storage polysaccharide for energy in plant cells
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Jiganic compounds are based molecules

Nitrogen
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Which of the following is true of cellulose”

it IS a protective polysaccharide for energy in animal cells
itis a polymer composed of glucose
it Is digestible by bacteria in the human stomach

LIS a storage polysaccharide for energy in plant cells
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I he difference between rnbase and deoxyribose sugar 1s

Lack of a nitrogen atom In ribose
LaCk of nng in deoxynbose

LACK Of a carbon atom n nbhose

Lack of an oxygen atom in geaxyribose
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Question No. 12

Which of the following types of celis use L NA as their gene

Plant
Protists
Archaea
Fungt
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Which domain has sort of
organisms?

Eukaryotes

Prokaryotes

Plants

Animals

clai Lua.o |
Which domain has sort of organisms?
Eukaryotes

Prokaryotes

Eukaryote

L



Which domain has sort of ;

organisms?
Eukaryotes
Prokaryotes
Plants
Animals

Which domain has sort of organisms?
Eukaryotes

Prokaryotes

Eukaryote



DNA in liver, brain and muscles In
person’s body are .........

- It's exactly similar

- It's totally different

- It's different in same orgen
- It's similar in same orgen
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How many basic types of cells?

Four
One

TwWO
Six
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Question No_ 11

The primary structure of the protein resufts from

@ Aunique amino aclkd sequence
) All answers are correct
An mteraction between the R groups of varous amino achs

The foiding and colling of the polypeplde
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Question No. 7

Protests are a diverse ~ollection of mosth araanisms

Fungus
Multi-cellular

pacteria
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Question No. 10

The IS the building block of matter.

molecule
element

alom

compound
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A membe-bound structure that do
specific function:

Organ

Organ systems

Molecules

Oragnlle




6. The two major processes in ecosystem dynamics are
——g. Matter and energy

b. Reproduction and adaptation
c. Water and nutrients
d. None

7. Life is divided into
a. 2domains

““=p 3 Domains

c. 4 Domains
d. 5Domains
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The IS the building block of matter.

molecule
element

atom

compound
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Question No. J
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Changes that happe

Energy processing

rganization
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